Subscriber Antennas

Grid Antenna, 2.4GHz, 27dBi

Electrical Specification

Frequency Range: 2400 - 2500 MHz
Gain: 27 dBi
Horizontal Beamwidth: 7.5°
Vertical Beamwidth: 7.5°
Front/Back Ratio: >38dB Mechanical Specification
Polarization: Vertical/Horizontal Diameter: 1200mm (47.24")
VSWR: <14 Weight, incl. bracket 24.25 Ibs
First Upper Suppression: | <-18dB Wind Survivability: 210km/h
Impedance: 50 Ohms Horizontal Adj. Angle: +/- 90°
Max. Input Power: 100W Pitching Adj. Angle: +/- 15°
Connector: N Type Female Mounting Kit/Style: Included: Pole Mount
Lightning Protection: DC Ground Operating Temperature: | 4000 to 60°C

Use by vertical

polarization install

[ Please Note:

T 1. When you install the feeding source, you shall make the polarization direction of the feeding source
parallel with the reflect panel grid of the paraboloid, then lock the feed source with the two bigger
retaining nuts which is in the feeding source.

[T 2. The diameter of the mounting pole is ©50 - © 80
Antenna Radiation Pattern
| ?50-»80Consumer install pole s
il -

-6
W] | Bolt M12*130,Flat washer 12 s li
Q/ Spring washer 12,Nut M12(each 2 pcs) -2
157 F
Supnorting f ] Bolt M12%*40), .|

AppoThe Tme / Flat washer 12£~ o

Spri her 12, I

Bolt M12#130,Flat washer 12, = Nt M12(each 2pes |
Spring washer 12, M Clamp 3 pes =

Nut M12(each 2 pcs) =

Blot M10;A30 ,

Spring washer 10
Flat washer 10, i |
Nut M10(each 2 pcs) o

Adjustable support

Flat washer 16 £-
Spring washer 16
Nut M16(each 2pcs £€) |,

Clamp 1 pes Link of the adjusting pole -9
Ll 0ltM12*130 ,Flat washer 12, *
Spring washer 12,Nut M12(each 2 pcs) E
o
TELETRONICS

INTERNATIONAL INC.

Tel: 301.309.8500
Fax: 301.309.8851
www.teletronics.com

Teletronics International, Inc.
2 Choke Cherry Road
Rockville, MD 20850

*Specifications Subject to Change without Notice



